PARTS LIST FOR ITEM 58374

-
YIFER

10 SCALE R/C HIGH PERFORMANCE OFF ROAD RACER

1/10 SCALE R/C HIGH PERFORMANCE OFF ROAD RACER

Parts code Parts code
1825429 Body & Wing 9805752 Rear Coil Spring (DB2 x2)
0440105 Chassis 50600 CVA Mini Shock Unit Il Oil Seal (Green, DB3 x6)
9005783 A Parts (A1-A3) 9805486 Oil Seal (Red, DB4 x2)
0004252 *1 B Parts (B1-B3, 1 pc.) 50597 Damper O-ring (Red, DB5 x10)
0004253 C Parts (C1-C3) 50823 TG10 Wheel Axle (DB6 x2)
0004254 *1 D Parts (D1-D6, 1 pc.) 9805368 Gear Box Joint (DB7 & DB8)
9115154 M Parts (M1-M9) 9805551 Drive Shaft (DB9 x2)
0115065 P Parts (P1-P7) 9805628 3x42mm Threaded Shaft (DB13 x2)
50598 CVA Mini Shock Unit Il V Parts (V1-V11, 2 pcs.) 0555059 Left & Right Upright (DB14 & DB15)
50599 CVA Mini Shock Unit Il W Parts (W1-W3, 2 pcs.) 9400261 Tool Bag (TB1-TB4, Grease...etc.)
50950 CVA Shock Unit Il (Short/Long) X Parts (X1-X11, 2 pcs.) 6275013 Switch Cover (TB1)
0225073 *1 Y Parts (Y1-Y3, 1 pc.) 50596 5mm Adjuster (TB2 x6)
51261 Front Wheels (2 pcs.) 9805702 6mm Snap Pin (TB3 x10)
51262 Rear Wheels (2 pcs.) 50197 Snap Pin Set (TB4 x10...etc.)
51207 2WD Off-Road Wide Grooved Front Tire (60/19) (2 pcs.) 4305125 Motor Plate
9805537 Rear Tires (2 pcs.) 50171 Heat Resistant Double-Sided Tape
9335432 Gear Bag 50595 Nylon Band w/Metal Hook (10 pcs.)
Spur Gear (MG1) x1 Diff. Cover (MG2) x1 87025 Ceramic Grease
Diff. Gear Case (MG3) x1 Counter Gear (MG4) x1 45029 ESC TEU-101BK
50602 Differential Bevel Gear Set Instructions x1 ESC (TEU-101BK) x1
Small Bevel Gear (DG1) x3 Large Bevel Gear (DG2) x2 7435035 Motor
Star Shaft (DG3) x1 9805520 Antenna Pipe (30cm) (300 pcs.)
53008 1150 Sealed Ball Bearing (MB1 x4) 9495488 Sticker
9465648 Screw Bag A (BA1-BA7) 1050533 Instructions
9805636 3x6mm Screw (BA1 x2) 1000357 Empty Box
9805898 3x12mm Screw (BA2 x10) *1 Requires 2 sets for one car.
9805859 3x15mm Screw (BA3 x4) R/C SPARE PARTS & HOP-UP OPTIONS
9805574 3x18mm Screw (BA4 x2) Item No.
50586 3mm Washer (BA5 x15) 50519 C.V.A. Mini Shock Unit Set Il (2 pcs.)
9805631 Wing Washer (BA6 x4) 50520 C.V.A. Short Shock Unit Set Il (2 pcs.)
9805557 4mm Flange Lock Nut (BA7 x4) 51205 2WD Off-Road Astral Dish Front Wheels (60/19, 2 pcs.)
9465649 Screw Bag B (BB1-BB7) 51205 2WD Off-Road Astral Dish Rear Wheels (60/29, 2 pcs.)
50577 3x10mm Tapping Screw (BB1 x10) 53024 4mm Aluminum Flange Lock Nut (10 pcs.)
9805575 3x18mm Tapping Screw (BB2 x2) 53068 RS-540 Sport-Tuned Motor
50581 3x12mm Countersunk Tapping Screw (BB3 x10) 53132 R/C Fluorescent Color Antenna Pipes (4 pcs.)
50582 3x14mm Step Screw (BB4 x5) 53159 4mm Anodized Aluminum Flange Lock Nut (Blue)
3515005 17T Pinion Gear (BB5) 53160 4mm Anodized Aluminum Flange Lock Nut (Red)
50601 CVA Mini Shock Unit Il Piston Rod (Short, BB6 x2) 53161 4mm Anodized Aluminum Flange Lock Nut (Gold)
9805917 Piston Rod (Long, BB7 x2) 53162 4mm Anodized Aluminum Flange Lock Nut (Black)
9465650 Screw Bag C (BC1-BC7) 53439 Anti-Wear Grease
50575 2.6x10mm Tapping Screw (BC1 x5) 53443 Silicone Damper Oil Soft Set (#200, #300, #400)
9805868 2x10mm Screw (BC2 x10) 53444 Silicone Damper Oil Medium Set (#500, #600, #700)
50576 3mm Grub Screw (BC3 x10) 53445 Silicone Damper Oil Hard Set (#800, #900, #1000)
50038 Tool Set (Box Wrench, Hex Wrench, BC3 x4) 53448 4mm Hard Lock-Nut & Spacer Set
9805758 2mm Washer (BC4 x5) 53640 5mm Aluminum Ball Nut (Blue, 10 pcs.)
9805889 2mm Lock Nut (BC5 x10) 53641 5mm Aluminum Ball Nut (Red, 10 pcs.)
50588 2mm E-ring (BC6 x15) 53689 540-J Motor
50594 2x10mm Shaft (BC7 x10) 53791 DF-02 Assembly Universal Shaft (2 pcs.)
9465651 Screw Bag D (BD1-BD7) 53828 DT-02 Turnbuckle Suspension Arm & Tie-Rod Set
9805755 3x22mm Screw Pin (BD1 x4) 53829 DT-02 Stabilizer Set (F & R)
9805756 3x32mm Screw Pin (BD2 x4) 53831 DT-02 Aluminum Motor Heat Sink
9804206 5mm Ball Connector Nut (BD3 x4) 53832 DT-02 Spring Set
9804154 5mm Ball Connector (BD4 x2) 53863 DT-02 Ball Differential Set
9805976 3x46mm Screw Pin (BD6 x4)

9400262 Damper Parts Bag (DB1-DB15, Damper Oil) TAM IYA

9805484 Front Coil Spring (DB1 X2) 1006 ©2006 TAMIYA TAMIYA,INC. 3-7 ONDAWARA, SURUGA-KU, SHIZUOKA 422-8610 JAPAN




